## **EXHIBIT A**

Date worked	Timekeeper	Description	Time	2020 rate	Total
2/14/2017	T. Fox	Telephone call with Chris Griffin about potential curb ramp case	0.5	\$725.00	\$362.50
2/27/2017	T. Fox	Prepare for team conference call to discuss investigation and possible litigation, including drafting agenda (.3); participate in that call (.8); Prepare memo to team summarizing team tasks (.2)	1.3	\$725.00	\$942.50
3/6/2017	C. Hall	Draft ORA to City of Boston Public Works Department	0.5	\$221.00	\$110.50
3/7/2017	T. Fox	Review and revise draft open records act request	0.7	\$725.00	\$507.50
3/9/2017	T. Fox	Review 2008 analysis of Boston curb ramps	0.6	\$725.00	\$435.00
3/9/2017	C. Hall	Send/email ORA to public works dept of Boston	0.4	\$221.00	\$88.40
3/23/2017	C. Hall	Print, sign, send Co-counseling agreement	0.1	\$221.00	\$22.10
3/24/2017	C. Hall	Print, sign, scan, send, and save updated Co-counsel agreement	0.2	\$221.00	\$44.20
4/4/2017	C. Hall	Respond to email from City re Public Records request, draft cover letter and send check to the City, emails with Tim and the team	0.8	\$221.00	\$176.80
6/16/2017	C. Hall	Scan and save letter from Public Works Department re ORA; download files from disk, review files and description included on disk, research methods of converting XML files to excel	1	\$221.00	\$221.00
6/19/2017	C. Hall	Research ways to convert XML files to excel spread sheet	1.1	\$221.00	\$243.10
6/21/2017	C. Hall	Research shapefiles, create nonprofit google account, import shapefile to Google Earth and color code curbs based off of compliance; email Tom re XML files	3.2	\$221.00	\$707.20
7/10/2017	C. Hall	Call with Tim and Tom and Andy from Denverdata re XML files	0.7	\$221.00	\$154.70
7/10/2017	T. Fox	Telephone call with C. Hall and database experts to address analysis of XML files	0.7	\$725.00	\$507.50
7/17/2017	T. Fox	Begin reviewing spreadsheets and other data provided by Boston	2.8	\$725.00	\$2,030.00
7/18/2017	T. Fox	Review spreadsheets and other data provided by Boston	4	\$725.00	\$2,900.00

Date worked	Timekeeper	Description	Time	2020 rate	Total
7/21/2017	T. Fox	Review spreadsheets and other data provided by Boston	2.3	\$725.00	\$1,667.50
7/25/2017	T. Fox	Continue to review data from Boston, and prepare outline for team call	2.1	\$725.00	\$1,522.50
7/26/2017	T. Fox	Review documents, and prepare agenda for team conference call (1.1); set up screen sharing for meeting (.5)	1.6	\$725.00	\$1,160.00
7/27/2017	C. Hall	Type up notes from call with team	0.3	\$221.00	\$66.30
7/27/2017	T. Fox	Prepare for call with team to go over data we received from Boston, and assign tasks (.4); participate in the call (.9); work on database (1.9)	3.2	\$725.00	\$2,320.00
7/27/2017	C. Hall	Review data for call with team	1	\$221.00	\$221.00
7/27/2017	C. Hall	Phone call with team re data frome the city and next steps	0.9	\$221.00	\$198.90
7/28/2017	T. Fox	Work on database	2.6	\$725.00	\$1,885.00
7/29/2017	T. Fox	Review data provided by Boston	1.9	\$725.00	\$1,377.50
7/30/2017	T. Fox	Review data provided by Boston	2.5	\$725.00	\$1,812.50
7/31/2017	T. Fox	Review data provided by Boston (4.8); Conference call to discuss using database to identify potential violations of the ADA (.6)	5.4	\$725.00	\$3,915.00
7/31/2017	C. Hall	Draft memo on how to review corners and code for violations	1.5	\$221.00	\$331.50
7/31/2017	C. Hall	Call with Scott and Tom re Boston database, segment review and coding instructions	0.7	\$221.00	\$154.70
8/2/2017	T. Fox	Review and revise memo to team discussing coding of alterations data provided by Boston	0.8	\$725.00	\$580.00
9/20/2017	T. Fox	Work on reviewing information provided by Boston	0.6	\$725.00	\$435.00
1/29/2018	T. Fox	Telephone call with Linda Dardarian and paralegals at her firm to discuss status of investigation and next steps (.4); work on database to identify violations of the ADA (2.5)	2.9	\$725.00	\$2,102.50
1/30/2018	T. Fox	Use database to identify violations of the ADA and the Rehab Act	1.9	\$725.00	\$1,377.50
1/31/2018	T. Fox	Use database to identify violations of the ADA and the Rehab Act	1	\$725.00	\$725.00

Date worked	Timekeeper	Description	Time	2020 rate	Total
2/1/2018	T. Fox	Review and analyze data in database to identify categories of violations (5.1); participate in conference call with team to discuss results of data analysis, and next steps (.6)	5.7	\$725.00	\$4,132.50
2/2/2018	T. Fox	Work on database	1.6	\$725.00	\$1,160.00
2/13/2018	C. Hall	Create a document with a list of ramps marked "Poor" in Boston's ArcGis map with Googlemaps screenshots; email document to Tim	2.5	\$221.00	\$552.50
2/13/2018	T. Fox	Work on database to identify violations for structured negotiations letter (1.5); conduct Internet research to try to find Boston policies on road resurfacing and installing curb ramps (2); draft email to team with results of database analysis (.4)	3.9	\$725.00	\$2,827.50
2/14/2018	T. Fox	Work on demand letter (.7)	0.7	\$725.00	\$507.50
2/15/2018	T. Fox	Work on demand letter (3.6)	3.6	\$725.00	\$2,610.00
2/19/2018	T. Fox	Work on demand letter (4.7)	4.7	\$725.00	\$3,407.50
2/20/2018	T. Fox	Work on demand letter	1.4	\$725.00	\$1,015.00
2/21/2018	T. Fox	Work on demand letter	3	\$725.00	\$2,175.00
2/22/2018	T. Fox	Work on demand letter	4.1	\$725.00	\$2,972.50
2/22/2018	C. Hall	Use ArcGIS data to map out missing curb ramps around polling locations, create list of locations and screenshot problematic ramps	2.3	\$221.00	\$508.30
2/23/2018	T. Fox	Work on demand letter	4.7	\$725.00	\$3,407.50
2/23/2018	C. Hall	Use ArcGIS data and Google maps to create a list of missing/problematic ramps near government buildings	2.5	\$221.00	\$552.50
2/25/2018	T. Fox	Work on demand letter	1.4	\$725.00	\$1,015.00
3/4/2018	T. Fox	Review Go Boston 2030 plan, and figure out response to the claim in that plan that Boston is making significant process on bringing its pedestrian walkways into compliance with ADA (.7)	0.7	\$725.00	\$507.50
3/6/2018	T. Fox	Work on demand letter	0.7	\$725.00	\$507.50
3/6/2018	C. Hall	Using the ArcGis map and Google streetview, determine programatic access problems for Boston government buildings, draft narrative of these problems	2.4	\$221.00	\$530.40

Date worked	Timekeeper	Description	Time	2020 rate	Total
3/7/2018	T. Fox	Work on demand letter	3.2	\$725.00	\$2,320.00
3/7/2018	C. Hall	Using the ArcGis map and Google streetview, determine programatic access problems for Boston government buildings, draft narrative of these problems, send narrative to Tim	2.5	\$221.00	\$552.50
3/8/2018	T. Fox	Work on demand letter, including working with paralegal to identify programmatic access violations, as well as database analysis (6.2)	6.2	\$725.00	\$4,495.00
3/8/2018	C. Hall	Using the ArcGis map, create a map with historic landmarks near areas without curb ramps or with noncompliant curb ramps	1.2	\$221.00	\$265.20
3/9/2018	C. Hall	Review Boston Curb Ramp classification done by GBDH	1	\$221.00	\$221.00
3/9/2018	T. Fox	Work on demand letter	3	\$725.00	\$2,175.00
3/11/2018	T. Fox	Work on demand letter	2.7	\$725.00	\$1,957.50
3/15/2018	T. Fox	Prepare for call with cocounsel by determining which types of violations we would like photographs to support (.5); participate in call with cocounsel to discuss photographing curb ramps, adding additional plaintiffs, and providing descriptions of plaintiffs' experiences (.3); work on database to identify corners for photographs (.7); revise demand letter (.3); review and edit retainer agreement (.4)	2.2	\$725.00	\$1,595.00
3/15/2018	C. Hall	Call with Tim re checking on newly constructed ramps categorized as poor and priority ramps in poor condition	0.2	\$221.00	\$44.20
3/16/2018	C. Hall	Using Google maps and ArcGis, find examples of priority corners with ramps in poor condition	1.5	\$221.00	\$331.50
3/16/2018	C. Hall	Using Google maps and ArcGis, find examples of newly constructed ramps in poor condition	1.4	\$221.00	\$309.40

Date worked	Timekeeper	Description	Time	2020 rate	Total
3/19/2018	T. Fox	Draft engagement agreement (.6); work on project to identify intersections to photograph for inclusion with the demand letter (.2)	0.8	\$725.00	\$580.00
3/20/2018	T. Fox	Review photos of ramps purportedly recently installed and in poor condition	0.5	\$725.00	\$362.50
3/21/2018	T. Fox	Review database, and draft email to team discussing unreliability of some data provided by Boston, and suggesting methods to deal with that (2); review Google Street maps to identify problematic corners with ramps only on one side (1)	3	\$725.00	\$2,175.00
3/23/2018	T. Fox	Work on identifying examples of curbs to include in demand letter (2.5)	2.5	\$725.00	\$1,812.50
4/11/2018	T. Fox	Review photos taken by stan eichner of corners with the ramps only on one side, and send email to stan concerning taking photographs of other types of ramps in poor condition (.5)	0.5	\$725.00	\$362.50
4/24/2018	C. Hall	Edit demand letter	0.2	\$221.00	\$44.20
4/24/2018	T. Fox	Work on database to identify altered corners without curb ramps (.4)	0.4	\$725.00	\$290.00
4/24/2018	C. Hall	Review Curbs identified as no ramps for demand letter	2.5	\$221.00	\$552.50
4/29/2018	T. Fox	Finalize draft demand letter and retainer agreement	1.1	\$725.00	\$797.50
4/30/2018	C. Hall	Review corners marked as having "no ramp" for Boston Demand Letter	3.8	\$221.00	\$839.80
5/1/2018	C. Hall	Review corners marked as having "no ramp" for Boston Demand Letter	4.1	\$221.00	\$906.10
5/3/2018	T. Fox	Finalize demand letter (3.5)	3.5	\$725.00	\$2,537.50
5/7/2018	C. Hall	Finalize Boston Demand Letter, attach exhibits, email and FedEx to Boston	0.8	\$221.00	\$176.80

Date worked	Timekeeper	Description	Time	2020 rate	Total
5/7/2018	T. Fox	Make last-minute changes to demand letter, and review exhibits to that letter (.8); telephone call with Stan Eichner concerning cocounsel and retainer agreements (.3);	1.1	\$725.00	\$797.50
7/9/2018	T. Fox	Review demand letter (.2); participate in call with team to prepare for call with city (.4);	0.6	\$725.00	\$435.00
7/17/2018	T. Fox	Review of newly produced documents from city, and send email describing same to team	0.5	\$725.00	\$362.50
10/1/2018	T. Fox	Prepare draft agenda	0.3	\$725.00	\$217.50
10/18/2018	T. Fox	Prepare for call with city (.4); participate in that call (.5)	0.9	\$725.00	\$652.50
10/29/2018	T. Fox	Participate in conference call with clients to prepare for settlement meeting with cit	1	\$725.00	\$725.00
11/8/2018	T. Fox	Review documents provided by city, and prepare questions concerning those documents(1.7); participate in call with city in preparation for meeting (1.2)	1.9	\$725.00	\$1,377.50
12/4/2018	T. Fox	Participate in telephone call with Tom Murphy and Linda Dardarian to discuss upcoming meeting with city	0.2	\$725.00	\$145.00
12/6/2018	T. Fox	Participate in call with City to discuss settlement	3.4	\$725.00	\$2,465.00
1/10/2019	T. Fox	Send multiple emails to cocounsel and to opposing counsel in other curb ramp cases we have negotiated letting them know that Boston may be contacting them	0.5	\$725.00	\$362.50
3/3/2019	T. Fox	Review documents and responses from Boston	0.7	\$725.00	\$507.50
3/4/2019	T. Fox	Participate in team conference call to discuss information provided by Boston, and prepare for settlement conference with city (1); draft email to Boston providing information they requested (.1)	1.1	\$725.00	\$797.50
3/5/2019	T. Fox	Prepare for settlement call with city (.2); participate in that call (2.2)	2.4	\$725.00	\$1,740.00

Date worked	Timekeeper	Description	Time	2020 rate	Total
3/6/2019	T. Fox	Telephone call with cocounsel to prepare for settlement call with city (.3); participate in settlement call with city (.7)	1	\$725.00	\$725.00
4/2/2019	T. Fox	Review spreadsheet provided by city showing plan to curb ramps and surfacing (.2); participate in conference call with team to prepare for settlement meeting with city (.7); participate in settlement call with city (1.6)	2.5	\$725.00	\$1,812.50
4/24/2019	T. Fox	Review and edit draftTerm list	0.3	\$725.00	\$217.50
5/13/2019	T. Fox	Prepare for call with city (.1); participate in call with city about settlement (.9)	1	\$725.00	\$725.00
6/5/2019	T. Fox	Review city' edits to term sheet	0.1	\$725.00	\$72.50
6/6/2019	T. Fox	Participate in call with cocounsel to prepare for settlement call with city (.3); participate in settlement call with city (1)	1	\$725.00	\$725.00
6/27/2019	T. Fox	Participate in call with city to discuss curb ramp survey	0.5	\$725.00	\$362.50
7/10/2019	T. Fox	Participate in settlement call with city	0.5	\$725.00	\$362.50
7/29/2019	T. Fox	Participate in call with city to discuss settlement	0.2	\$725.00	\$145.00
8/6/2019	T. Fox	Review draft email from Linda Dardarian concerning RFP for surveys	0.2	\$725.00	\$145.00
8/9/2019	T. Fox	Review and edit draft consent decree	1.1	\$725.00	\$797.50
8/22/2019	T. Fox	Review draft consent decree in preparation for call with city (.3); participate in that call (.7)	1	\$725.00	\$725.00
10/1/2019	T. Fox	participate in call with the city about draft settlement agreement (.9)	0.9	\$725.00	\$652.50
10/8/2019	T. Fox	Telephone call with team to discuss next steps in settlement negotiation	0.5	\$725.00	\$362.50

Date worked	Timekeeper	Description	Time	2020 rate	Total
10/17/2019	T. Fox	Prepare for call with team to discuss Boston's proposed number of ramps to be remediated per year (.1); participate in that call (.2); Telephone call with city to discuss number of Ramps to be remediated for year (.7)	1	\$725.00	\$725.00
11/13/2019	T. Fox	Participate in call with city concerning settlement	0.5	\$725.00	\$362.50
11/19/2019	T. Fox	Review RFP for survey (.3); participate in call with team to discuss same (.4)	0.7	\$725.00	\$507.50
11/20/2019	T. Fox	Telephone call with Martie Lafferty to talk about drafting settlement documents (.1); participate in call with Boston to discuss survey (.7)	0.8	\$725.00	\$580.00
12/3/2019	T. Fox	Participate in telephone call with city to discuss settlement	0.4	\$725.00	\$290.00
12/10/2019	T. Fox	Participate in settlement call with city	0.5	\$725.00	\$362.50
12/18/2019	T. Fox	Review response from city to our questions concerning the task order (.2); participate in status call with city (.3)	0.5	\$725.00	\$362.50
1/2/2020	T. Fox	Telephone call with Ray Wendell and Linda Dardarian concerning consent decree edits	0.8	\$725.00	\$580.00
1/3/2020	T. Fox	Participate in telephone call with city to discuss its edits to draft settlement agreement	2.1	\$725.00	\$1,522.50
1/10/2020	T. Fox	Prepare for call with city (.1); telephone call with team to prepare for call with city (.7); Participate in that call (1)	1.8	\$725.00	\$1,305.00
1/21/2020	T. Fox	Review and edit draft consent decree	0.3	\$725.00	\$217.50
1/23/2020	T. Fox	Prepare for call with city to discuss draft consent decree (.1); participate in that call (.9)	1	\$725.00	\$725.00
3/16/2020	T. Fox	Participate in conference call with team to discuss city's edits to settlement agreement	0.9	\$725.00	\$652.50
3/16/2020	T. Fox	Review draft settlement agreement with city's edits	0.3	\$725.00	\$217.50
4/27/2020	T. Fox	Review edits to draft consent decree	0.3	\$725.00	\$217.50

Date worked	Timekeeper	Description	Time	2020 rate	Total
6/19/2020	T. Fox	Participate in status call with city	0.8	\$725.00	\$580.00
6/25/2020	T. Fox	Participate in call with city about consent decree	1.5	\$725.00	\$1,087.50
7/6/2020	T. Fox	Review edits to draft consent decree	0.2	\$725.00	\$145.00
7/23/2020	T. Fox	Review revised settlement agreement from city (.4); participate in conference call with city concerning settlement agreement (1.4)	1.8	\$725.00	\$1,305.00
8/4/2020	T. Fox	Review edits to draft consent decree	0.2	\$725.00	\$145.00
9/18/2020	T. Fox	Participate in call with city concerning number of ramps to be installed/remediated	1.1	\$725.00	\$797.50
9/28/2020	T. Fox	Participate in settlement call with city	0.4	\$725.00	\$290.00
9/29/2020	T. Fox	Review and edit revised consent decree	0.7	\$725.00	\$507.50
10/26/2020	T. Fox	Participate in settlement call with city	0.5	\$725.00	\$362.50
11/5/2020	T. Fox	Participate in settlement call with city	0.4	\$725.00	\$290.00
11/11/2020	T. Fox	Review and respond to draft email concerning payments to named plaintiffs	0.1	\$725.00	\$72.50
11/17/2020	T. Fox	Telephone call with cocounsel to discuss attorneys' fees	0.3	\$725.00	\$217.50
11/17/2020	T. Fox	Telephone call with city to discuss settlement	0.5	\$725.00	\$362.50
12/1/2020	T. Fox	Participate in settlement call with city	0.5	\$725.00	\$362.50
1/8/2021	T. Fox	Participate in portion of settlement call with city	0.6	\$725.00	\$435.00
1/19/2021	T. Fox	Review letter concerning fees	0.2	\$725.00	\$145.00
1/19/2021	T. Fox	Find and review invoices for monitoring work in other curb ramp cases at the request of Boston	0.3	\$725.00	\$217.50
2/2/2021	T. Fox	Review and respond to email with proposed changes to settlement agreement to address attorneys' fees	0.1	\$725.00	\$72.50
3/3/2021	T. Fox	Participate in settlement call with city	0.7	\$725.00	\$507.50
3/17/2021	T. Fox	Participate in settlement call with city	0.5	\$725.00	\$362.50

Date worked	Timekeeper	Description	Time	2020 rate	Total
3/19/2021	T. Fox	Participate in team call to discuss counteroffer concerning attorneys' fees	0.5	\$725.00	\$362.50
3/24/2021	T. Fox	Review and edit draft consent decree	0.3	\$725.00	\$217.50
3/29/2021	T. Fox	Participate in settlement call with city	0.8	\$725.00	\$580.00
3/31/2021	T. Fox	Review revised settlement and send email concerning same	0.5	\$725.00	\$362.50
3/31/2021	T. Fox	Participate in call with cocounsel to discuss position on monitoring fees during dispute resolution	0.4	\$725.00	\$290.00
4/1/2021	T. Fox	Review and respond to revised consent decree	0.2	\$725.00	\$145.00
4/8/2021	T. Fox	Telephone call with city concerning settlement (.6); follow-up call with cocounsel (.3)	0.9	\$725.00	\$652.50
4/9/2021	T. Fox	Review draft response to city concerning fees	0.1	\$725.00	\$72.50
4/13/2021	T. Fox	Review revisions to settlement agreement (.3); telephone call with cocounsel to discuss same (.2); telephone call with defense counsel to discuss same (.8)	1.3	\$725.00	\$942.50
4/14/2021	T. Fox	Review edits to settlement agreement	0.1	\$725.00	\$72.50
4/19/2021	T. Fox	Review and edit draft motion for preliminary approval	0.8	\$725.00	\$580.00
4/30/2021	T. Fox	Respond to email from cocounsel requesting list of corners with accessibility problems that we identified in our demand letter	0.3	\$725.00	\$217.50
5/3/2021	T. Fox	Participate in settlement call with City	0.6	\$725.00	\$435.00
5/4/2021	T. Fox	Review edits to consent decree, and comment on same	0.3	\$725.00	\$217.50
5/4/2021	T. Fox	Participate in call with cocounsel to discuss next steps	0.5	\$725.00	\$362.50
5/4/2021	T. Fox	Review and edit class notice, including getting URL on our website for settlement materials	0.6	\$725.00	\$435.00
5/11/2021	T. Fox	Review and edit complaint	0.8	\$725.00	\$580.00
5/12/2021	T. Fox	Review draft motions for preliminary and final approval and proposed schedule (.4)	0.4	\$725.00	\$290.00

Date worked	Timekeeper	Description	Time	2020 rate	Total
5/18/2021	T. Fox	Participate in telephone call with city to discuss final steps in submitting settlement agreement	0.4	\$725.00	\$290.00
5/25/2021	T. Fox	Participate in telephone call with city to discuss settlement	0.2	\$725.00	\$145.00
5/27/2021	T. Fox	Review City's edits to settlement documents	0.1	\$725.00	\$72.50
6/1/2021	T. Fox	Participate in call with city to discuss settlement	0.4	\$725.00	\$290.00
6/11/2021	T. Fox	Review city's edits to motion for preliminary approval (.2); participate in call with City concerning settlement (.5)	0.7	\$725.00	\$507.50
6/11/2021	T. Fox	Review motion for preliminary approval for citations to my declaration	0.2	\$725.00	\$145.00
6/14/2021	T. Fox	Telephone call with paralegal to describe project to draft my declaration in support of motion for preliminary approval	0.3	\$725.00	\$217.50
6/14/2021	T. Fox	Review and edit declaration in support of motion for preliminary approval	0.8	\$725.00	\$580.00
6/17/2021	T. Fox	Participate in call with city to discuss settlement (.5); participate in follow-up call with cocounsel (.2)	0.7	\$725.00	\$507.50
6/21/2021	T. Fox	Review and edit draft press release	0.2	\$725.00	\$145.00
6/24/2021	T. Fox	Participate in settlement call with the City	0.4	\$725.00	\$290.00
6/28/2021	T. Fox	Participate in settlemeent call with city	0.2	\$725.00	\$145.00
6/30/2021	T. Fox	Review and edit motion for admission	0.2	\$725.00	\$145.00
7/13/2021	T. Fox	Review press release from City, and draft email to cocounsel concerning same	0.2	\$725.00	\$145.00
8/4/2021	T. Fox	Work on timesheets print out and, relatedly, begin drafting declaration in support of motion for fees	2.1	\$725.00	\$1,522.50
8/6/2021	T. Fox	draft declaration in support of motion for an award of fees/costs	1.6	\$725.00	\$1,160.00
8/23/2021	T. Fox	Review and edit draft motion for an award of fees and costs	1.1	\$725.00	\$797.50
8/25/2021	T. Fox	Finalize my declaration in support of motion for an award of fees and costs	1.3	\$725.00	\$942.50

## Case 1:21-cv-11080-RGS Document 27-1 Filed 08/30/21 Page 13 of 13

Date worked	Timekeeper	Description	Time	2020 rate	Total
		Total:	215.7		135567.3